4/2018 (1) (E17)
-~ I P{E) = 0.73, then probability of ‘nol E" 10
(A) 0.3 (BY 027
(C) 025 Dy 0.37

2. Yamuna rver entérns Haryana near

forost
(A) Kalgsar (8) Bandipur
(C) Gir (D) Satpum

3. Which of the following materials has lower
resistivity 7

(A) Silvor (B) Constantan

(C) Manganin (D) Giass

4. Arrange the following in the chronological
order.
1. August Offer

2. Poona Pact

3. Third Round TabléConference =

AN e

Choosaitheright codéas
(A) 159=8 By 3=2-1
(C) 2= (D) 1=3=2

5. Value of cos*30% wasu%:wsm s
(A) O (8) 1

© )% © Y%

6. The present day Haryana came under the

control of British rule in the year
(A) 1803 (B) 1777
(C) 1600 (D) 781

Highly reactive metal among the following
{A) Lead (B) Iron
) Copper ©) Zinc

MIill!lilllllillfa:mm L
1.~ ot P(E) = 0.73, e o e @ 8
| (A) 03 8y 027
(C) 025 (D) 0.37
2, g A i ks
iy wE R
(A) wfeE (B) TE
(c) fm (D) HATE!
3. Frafafa 7 8 Fa vy 1 HAEAA TR
MG :
(A) =2 (B) FETEA
(c) WHH (D) sl
4, e fteten o st F
1. I 9=
2. gALEAdar
T
['ﬁ, 1_2 ‘13 v li'{‘B, 3_2_1
(ci 2-3-1 (D} 1 =q=2
Ta }
5" “cos® 30¢ +5k1¥43‘- l tan;& Eémt
() 0 ®) 1
© % ® Ya
s : |
(8 3 1 gt e e 3 o o
-
5} it (B) 1777
3
A Frefafas d 3=a sifuframfa ug 2
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8.

10.

1.

12,

wWhich of the fnl!:_—,wlnq d
L -?"M'jh e
under Balance of p’_“”ﬂnht Ln.‘. co
o i85t 9

’:A! Buﬂgﬂt ﬂﬁtln'iﬂ!“_]r
i }
borrowing - OXterng)

(B) Transaction b-::lwwq Ired
countries |
Transaction betwes

World Bank
Grants given 1o Union Territor
L

8 ang | reign

(©) -
Ndia and IMe &

{0)

Consider the Iollowing state
nuclear minerals and
stations.

1. In Ra;asihar_r and Jharkhand we have
large deposits of Uranium minerals

Kerala has large deposit of

matanal. Thorium

As of today Orissa State has no
nuclear power station.

Which of the tollowing is not correct ?
(A) 1 only (B),.2 only
(C) 3only (D) none

Regarding food, Haryana is called as

(8) Land of thorns
(C) Land of smiles
(D) Land of rotis
Which is the smallest district of Haryana ?
(A) Hissar (B) Faridabad
(C) Sonipal (D) Biwani
| her
Find the number which is not like the ot
byt (B) 12448
- 12336 .‘
2 12566 (D) 12672
(C) : .

ments fe<;ardmg 9
Nuclear power -

42018 (1) (17

Frefedfera # 2 a-mn swrns

AR erod
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B) wea 3 e F oy g
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(a) feam _

(c) HFi @‘ﬁ ag=t X
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(A) 1236 IR

(C) 12556 (BIFEtE 8



s f 4 TR ‘
A1 § =17 ;
y i | F . | N -
s L3 L1 : - ' 0l & 1 8 s Lha 1 LIy ¥ :
A Pgmibar = i i ¥ ]
- = sy i 0 1 At A
. - b " o Ty 4 'y STl 1T f * Lt ¥ '
! = LT ,,.I“',.;u di"a [ | 4 LLs | L4 L ' i Y .
aacviea] e ol bim LY I . ! 3 - ' -l
. e R ] ONLL - AT o e 8
Al - i G | Al ek 3 ML 3 1
i STIANOINAD T CRIJA : :
A 1 I -
% = Wi i L1 :
. (N \ | |
& g -
'AY K >
A
i : A
" 1 thha |
; T . Tl T,
\ r:% o 0 i 5 | {ign B i
i P 4
- " v 1 CL { 1+ i b2 e £
- PO |
" sl ] g ¥ 1 L ’ & A k
1%, 3 |
1 ' e ARSI
| F A5 LN | |
i i s , Y " ¥ T , |
Al
5 1 r i
=1 T [ = &l
1 i . . L&) '
} TCNANCT zn |




https://haryanajobs.in




https://haryanajobs.in

4/2018 (1) (E17)
24. Complete the analogy.
Geometry : Euclid: : Co-ordinate Geomelry: ?
(A) Rene Descartes
(B) Euler
(C) Cantor
(D) Newton

25. Bleaching powder is
(A) CaOCl

(C) CaO.Cl

(B) CaOClI,
(D) CaO.Cl,

Several Ganas used 1o make a
(A) Mandal (B) District
(C) Sangha (D) Hoball

Which of the following cities is famously
called * Scotland of India’ 7

(A) Shimia

(B) Kodagu tCoorg}

et ASmmmntﬁm
d by Lala Lajpat Rai and was called

(A) Quit India

(B) Azad Hind

sc) Swadeshi Andolan
(D) Sathyagraha

%BF N, RV, ZD, HL, 2
PT (B) Lp
© oK (0) au

"3! +5-u m-ﬂ =

(M 5 \-_
(©) 10

u/ﬂuﬁvm‘{ﬁﬂ"l
ﬂtﬁfﬂqﬁﬂgﬁiﬂﬁimﬁﬁf

(C) *&
(D) =2
g:‘r “wffam a3zt R
(A) CaOCl (B) CaOCI,
(C) Ca0,Cl (D) CaO.Cl,
# fero arga o w1 IvaEm AR #
(A) HEE (8) ferem
(C) (D) ¥rarefl
\ 27 Tpafafas ¥ a fem am e wim w =
T oEmaE R
(A) famrn,
(B)Mﬁ?ﬁ
(C) S
(D) Ff3ifem..}
LU
)/:aa{aneo? w?mmmmqmm
@ wniem smifn = mn @, frd
J;_j L ] 11=
(A) wrTE BT [
(B) w1z fim
(C) =it AR
(D) HFmTR |
BF, N, RV, ZD, HL, 7 |
?Eﬁm'ﬁ%mmmmﬁl
(A) PT (B) LP
(C) GK (D) QuU

% 3%~ dy + 5 = 0 3 Gx - By + k = 0 AW
T w z @ ko :

(A) S ‘ (B) 15

(€ 10 (0) W & wird e

+ 8x-Yya9-0 Ly Prko
5- .
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Home Rule League Agitation
(A) Vivekananda

(B) Sister Nivedita

(C) M.K. Gandhi

(D) Annie Basant

Was staned by

If21% of July was Saturda
of the same year was

(A) Wednesday
(C) Saturday

y then 4* July was

(B) ThU Isday
(D) Tuesday

The Andaman
by

(A) 10° channel
(C) 6° channel

and Nicobar is separated

(B) 8°channel
(D) 12° channel

The distance between the points (a+ b, a-b)
and (a-b,a +b) are

(A) 0
(C) V8 B

(B) a+b

;1. _—

The age of.a father is aqupl 10 the surm of |

the ages ofhis:5 children.. After 15 years,
the sum of the ages of the children will be
twice the age of the father. Find the age of
the father.

(A) 40 years
(C) 48 years

(B) 45 years
(D) 50 years

Which State in the following lies to the east

of Haryana ?
(A) Rajasthan
(B) Uttar Pradesh
(C) Himachal Pradesh
(D) Punjab

each of the side 1.5 cm are
E:&m:aand. the surface area of
| solid is
(A) MBan‘
@ 30.25 em’

(D) 32cm®

SEHD)Y- none of these |

‘ 4/2018 (1) (E17)
PR U o . S
(A) fadaTm
(B) fosr Frafam
(C) . i
(D) Ui ez
327 afz 21 et wfran a1 a1 36 w6 4 we
a1 |
(A) AuEm (B) T
(C) ofram (D) WTEER
33, sewE s fmEm _ zmuws i
(A) 10°¥7& (B) & 7w
(C) 6° % (D) 12° 9=

y ﬁ?d’l(mba b) 3 (a - b, a + b) & =

{A} s (B) a+b
(€) VBb (D) T & &7 F
;/ﬁmtﬁangmﬁsm#wﬁm

* A R | 15 99 F AR, T F A F
am fam £ mgqmﬂvnm | firn 1 311

(A) «mﬂ . (B) *45‘au‘1
(C) 48 (D) 5071
}Q/ﬁrﬁ%ﬁaﬂﬁﬁm-mmm%t{ﬁ
&
(A) T
(B) 3 N2
(c) fir=a wam
(D) TEE
)7/3@5'1 6 8,4, pTaeY 3 T ST 7
{ < B, aftomef) S 5 g A B
(A) 29.75cm? (8) 3t50m
(©) 30250m*  (0) e

L e ———



4/2018 (1) (E17)
38. Which of the following form an AP 7

1.

{Am LutyBF" = —
tﬂmbusiﬂr — e
_(0 Laurie Baker
(D) Cornwallies
:E r‘lﬁ& the circle inscribed In a square of
side wﬁ'cm is
-um’ @ % om?

https://haryanajobs.in

(A) 1, 1.2,2,3 3
(B) 0.3, 0.33, 0.333....

C) +2,2,2V2,4,..
(D) 7.7+42. 7424274342 ..

If '+' means 'x’, '~ means '+, ‘x’ means '~
and "+’ means ‘+ then 10+4x25-5+8=
(8) 53

(D) none of these

(A) 48
(C) 35

The famous actress Juhi Chawla is from
district of Haryana,

{(B) Rohtak

(D) Ambala

(A) Pinjore
{C) Sonnet

The High Court building of Chandigarh was

o 1+ —

{A}r Saranath '

L ©) Kurvkshara

LR LR
ap” Frferfiae 2 -1 U TR 3o wmm,

(A) 1,1,2,2,3.3
(B} 0.3.0.33,0.333,...

(C) V2,2,2/2,4,..
(D) 7.7+432,7+42J2,7+3J2 .

afe v a1l ' R, = 3, e m o

39,
ottt s T A AT 1044 x25-5:4.
(A) 48 (B) 53
(C) 35 (D) ¥ {518 37
ag g bl aEanefarm®:
fmat
(A) fasi (B) TEaw
(C) ﬁﬁzg (D) afaTen

—

tﬁ

s
yaﬁmwﬁmmm

o o ey

{B] Fﬁﬂi‘l‘iﬁm

ogether

}/4’5 A, 0 % wr o o st @

CELT R
2
) 3om ® o’
O f o gt
AT e i i b

e sl S w wwan |

(A) HRA™ ()

(C) (D) Fwaa
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2B

46.

47.

Legislative Assemb|
laws on the subject |
Schedule of the Co
(A) ™
(C) o"

Y of Hary,
_ ana pas
NStitution D

(B) g+
(D) 1om
Who among the foliowi
mostvaluable player’ of
award ?

(A) Mary Kom

(C) Ehﬂjl‘&ng Punia

ng named for the
Asian Games 2018 |

(B) Rikako Ikee
(D) PV, Sindhy

Fore brain is specialised for

(A) Hearing

(B) Smell

(C) Sight

(D) Walking in a straight line

Which of the following statement/s is/are

true withyreferencestaseytoplasmic-male-
sterility 2o s

(A) Cytoplasmic male sterifity is totat or |
(B)

application in plant breeding.
Both A and B are correct
Both A and B are wrong

(©)
(D)

Solutions of the equation
445 x° +3x —2V/5 =0 are

(A) V5,2V5

2 5
© &4
Read the following statemen
B erd

partial male staﬁﬁ@s. |
Thma'nome_non as a wider

7 4}2018(1”&”
Bl ) favrasn @faar #
SN W o ) WO Wi |
(A) 7™ (B) &
(C) &* (D) 107

44,

45/'5'&!3?-1 el EOIBW# e fas e
< Yeuam faerd) s R T R

(A) it =i (B) i wh

(C) w=m yfsm (D) ", fay
86" smuferem _ wfemfamy

(A} &1

(8) wmw

(C) 2@

(0) % ¥ & v
s ;9]4] c;- % | e -
)?/me&mﬁmﬁnﬁmﬁf@aﬁ

ﬁm—mmaflt?
(A) i joTal R 8 @
(B) ¥W UfTIz1 F1 &Y F99 7 =T

IS

u

(D) A 3 B 2 e £

48w 4J5x° +3x-2/5 =0 F At

: , -2 5
(A) V5.2J5 (B) 33-’,%-

(D) V5,45

W%mammﬁﬂw

_ it st 7l = |

(A) Wﬂﬁimmﬁmmm

TR AR Lo

(B) THA TETEmA W AT T
Tt 7 g2 wwa

(©) #Fd

(D) wré TE




4/2018 (1) (Eﬂ') Anmedabad
bullet train Pw Etu{::mszﬁh Korea
GL" @

non
51. Hmmmmmmm ol
o parismentary Commi
(A) Sardar Hukum Singh
(B) Tara Singh
(C) Chotu Ram

Below some fresh water bodies are given,
‘arrange them from larger to smallest

https://haryanajobs.in

(D) Chaudhary Devi Lal

I ICE: is coded as 17 then ‘TEA' is coded

aAs
(A} 18 (8) 19

(C) 26 (D) 27

Which of the following Viceroy was
associated with libert Bill controversy ?

(M%ﬁum (B) Lord Ripon |
(C) kOGO edD), Lord MaYD

Y T —

B, ARG, p,7 T —
(A) 20 8) 25

© 27 (D) 30
Sultanpur Bird Sanctuary is located in
(A) Gurugram (B) Sultanpur
(C) Sonipat (D} Ambala

mummmmﬂp,\

: A gl
Pk et iy
T:a Wl (B) N |

() FH (D) WH

et 0 e ¥
wfifa £ v T |

(a) T T

(8) e

(C) B T™

(0) hud 3= =

82,4 ICE F 2 17 B, A TEA BFZ
~ (A) 18 & 19

©r 26 (D) 27

51

ﬂ/ﬁiﬁam%mm—maﬁaﬂu’ﬁ‘

“‘"e&:s —

(D} =7E 7

“lgy g, ? # g Wem M
bagetiser

55, gempedtoen _ ufead
(&) T (8) T
(C) wrfraa (D) FETEn
W!ﬂm&m#mﬁmﬂ!i w

57




LT

Thanesar ruled by Harsp
was in the vicinity of
(A) Kurukshetra

avardh

I‘B‘ﬂ ﬁ'”ﬂ_""
e ' Ma
(C) Biwani (D} p_”“_._; :
L= et TR ch
Haryana is the “ mast
Vol populous
State in India L o
(A) 167 (B) 17
(C) 15° (D) 14¢

S8 OVEHDIate Assembly election 100K
place dunng
(A) 2013

(C) 2015

(B) 2014
(D) 2018

By the 1930s, the Congress had accepted
that Hindustani ought to be the national
language, Hindustani is a blend of

(A) Sanskrit and Hindi

(B) Hindi and Urdu

(C) Sanskmtand Urdu

(D) Sanskiit, Hindi and Urdu

On which of the following hill range 15 the
‘Doddabetta’ peak situated 7

(A) Nilgiri hills

(B) Cardamom hills

(C) Annamalai hills

(D) Nallamala hills

Haryana State ghares I8 boundary with

number of States.
(B) 6
(D) 3

similar 10 plam
and contains less

(A) 5
C) 4
Name the fluia 1isﬁua
of blood but colourless

e (8) Dialysing fluid
52; E;E:[::m (D) Pleural fluid

18an B “"”1 |

|

|

=11=

SF

58,

59,

60.

ﬁ‘.

17)

a1 g AnE urn 5 AT
o

A) THHETE (B) HETH
{ I EiCT (D) U i
whamm wra # HAlaw =5
T TG B
(A G By 17
(C)y 157 (D) 14
11 3 =g fnam w1 9 3
U |
(A} 2013 (B) 2014
(C) 2015 (D) 2016
1930 7 Fhra 3 fezearl 1 T & &
A w=iwn = T 9@ ﬁ'??ﬂf b ES
T e
(A) wEha oin fEdl
B) T 3t 32

(C) wen
(D) weFa, o i 3E
4 et 3 A i T AV W ATEE

T fEm R e

(A) refd weriEa
(B) wretum ugiEal
(C) e TETEl
(D) Feerwe Tt

o T 1 EE . geae
4l

(Ay 5 (B) 6

(C) 4 (D) 3 :
‘mﬁmwmmﬁwm?mm
Tmm?# (B) FRETE A

(D) @
()
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i Ffa ¥ wod i Frfy
H2018 (1) (E17) ning in fndia | - ﬂf.-f-ﬂﬂfﬁ““ mgﬁaﬁ ﬁ | ﬁqhﬁ?ﬂ
64. With reforence 10 modefn farmT= < FgN T far=m Ffer, | ]
" consider the following statements. | Eﬂaﬁ F9e @ 1950 H ?Fﬁi ERICER
it lad 1o grean revolution in agriculture L «t
1. Itledtogre : Emlﬁ e 78 |
productions In 1950's. o S £ x e
2 Wintroduced the High Yielding Vareties p. g Y 3 A1 I 3TN fod
(HYV) of wheat seeds only. ) e e |
e s Pﬁ"’f';i;fifﬁ' Tnﬂe :?5[ 3, v, wfamn i af 3w v 3
Western Uttar Prac 4 | i sy S By B b
to try out the modem farming mathod ﬁmﬁﬂﬂ mw 1A | m‘iﬁ&" q=fq
in India & afteR! =1 W |
4. HYV seads, however, needed plenty 4. HYV ?ﬂﬁﬁ 31':1 m e, marafs
of water and also chemical fertilizers TR i e ) e v A
and pesticides, y -
Which af the above are true 7 T3 0 FA-H TR 7
(A) 2.3and4 (A) 2, ngkiﬁ_
.. . (B 1.23M 3
' and §gnjy=—m . :
(0) ZandTonly " — ' 33‘#(2 -
— o ® :x ALERY
65. Boo AlShah Kalandar wasE o 7 -
{A) Soofi Saint (| Klﬂﬂ 65'/ ?:iﬁ!m ‘,VI E‘|‘ “ET nl e 'a |
(C) Fighter Byl ”@-@e H@‘r
66, Gamblﬂaﬂmma&nh and Phulkar 4 | (D) femardh
= ! ar is called ymm o ——y
(A) Topi t | ! il i-m:lg___ﬂir.ﬂl'ﬁi
(B) Phag
Sl () Chape B 250 (B) W
67. Find the WOrd Whish x4 (C) L5
other 3 ogtons g Hrent from the 58 e = i) i
(2} Ramayana (8) P‘ —— WSWQ‘Mmmﬁ'
(C) Mahap “Anchatantra (A) TrEm .
88, *(O) Upanishag | : L (BY weaz
) | T fEn
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WA
.7 4@013(1)(517'
o aRdral English Language
alternative that is opposi :
the given word. alis opposite in meaning 7},. . _logo out, but | had too much
: work.
E@,f“P‘E"HW (A} hoping
‘e Mistegd (B) have hoped
(8) Restricted el S
(C) Complete (C) have bee ing
(D) Mysterious (D) had been hoping
5,7({ Penlous Give single words for each of the following
(A), Eie (B) Delicate expressions.
{C) Heallhy (D) Safe
75. Tncapable of making mistakes or doing
yse the appropriate modals 1o fill in the blanks.
wrong.
T3¢ You ___—have writian o him yesterday. (A) Wierate
(A) oughtto (8) ‘nlldﬂl !
(B) GEE LE:__ = (C) lnlalible b
W E— e (o) % Inehmble .
— —— A
(D) r_milﬂ- - ﬁ.m:rah with two of wings, one above
him, give him my Mnmer
see M
L —— ~gethe
frosse (8) Biography
(A) must ©)
{8y ahiould () Biopic
{Gj w Fill in the blanks with correct options.
©) emfmmwm 77, I¥s very kind of you o to speak
Ghoose the correct form o 1ne¥ " atthe meeting.
(A) Divide (B) Comply
1o the bank menee®” yor? (C) Agree (D) Deny
W Have you was able 10
(B) Do you Wi (A) tie with (B) teup
. nd : : tie down
: mwyouwﬂﬁen (C) tieon (D) meds i)
n _
WW"‘“’“ﬁ w A3
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fr=ft

79. ﬁmmﬁqwﬂﬂﬁwﬁmt
e w7 s aré w8, @ el ¥-m

wemm Em k7
(A) =wife (B) 3‘1‘“1
(Cy wm (D) UHTHWH

80, fFrmfarfors § 2 WA a1 #) TG4 HIAT, |
T (A whE (B) WA
(C) wfEfrm [u;.«m&m
81. + fn = ‘wrdm, A At
~ :.?ﬁﬂnﬁl (B) =i afu
(©) @ (0) &
82, ‘witwu wam v A F FarA  fafer |
(A) wft @ 7u oF T
(8) ®ft @ gu Tl Ao |

85, 'm‘m%mm-mmmmh
: (A) T8 By ¥
(€) 9 (o) fm

gs; famafaferm A & ‘wifa’ & waiwar e
iR

(A) wf@ (B) i
(Cy 7% (D) +

87.. ‘e R m s A R 7 l
(A) A (8). T |
(C) &M TH (D) FMTH -

89 T B F=H = TN &= a8 @A a7
(A) = (B) 3wt WA
(C) =eife (D). FeEH

90, "UTE TWEA qEEl %1 54 8
(A) swfr g
(B) =9 U FHEE FA
(Cy 3w =
(D) e Wz =






